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QUESTION 1

The following DDL statements are executed to create the following objects: CREATE TABLESPACE TS1
BUFFERPOOL BP0 IN DB1; CREATE TABLE USER1.TB1 ( COL1 INTEGER, COL2 VARCHAR(10) ) IN DB1.TS1;
CREATE INDEX USER1.IX1 ON USER1.TB1 ( COL2 ) BUFFERPOOL BP0 COPY YES; Next, the following ALTER
statements are done (in order): 1) ALTER TABLESPACE DB1.TS1 BUFFERPOOL BP8K0 MAXPARTITIONS 20; 2)
ALTER TABLESPACE DB1.TS1 SEGSIZE 64; 3) ALTER INDEX USER1.IX1 BUFFERPOOL BP16K0; Which of the
following will materialize all of the changes with the least amount of work? 

A. Nothing needs to be done. 

B. REORG INDEX USER1.IX1 SHRLEVEL CHANGE 

C. REORG TABLESPACE DB1.TS1 SHRLEVEL REFERENCE 

D. REORG TABLESPACE DB1.TS1 SHRLEVEL REFERENCE REORG INDEX USER1.IX1 SHRLEVEL CHANGE 

Correct Answer: C 

 

QUESTION 2

What kind of information is stored in SYSIBM.SYSCOPY? 

A. General information needed for recovery. 

B. Only information about existing image copies. 

C. Information about currently running and stopped copy jobs. 

D. Only information about objects which are currently in copy pending. 

Correct Answer: A 

 

QUESTION 3

Which DB2 performance feature is designed specifically to reduce the number of indexes that need to be created? 

A. Inline LOBs. 

B. Include columns. 

C. Hash row access. 

D. Direct row access. 

Correct Answer: B 

 

QUESTION 4
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Given the following view definition: CREATE VIEW EMPD AS (SELECT D.DEPTNAME, 

A. LASTNAME FROM DEPT D INNER JOIN EMP E ON D.DEPTNO = E.WORKDEPT); Can an UPDATE statement be
used to update the view EMPD on joined tables DEPT and EMP? 

B. No, an UPDATE statement against the EMPD view is not allowed at all. 

C. Yes, the view EMPD can be updated directly via an UPDATE statement. 

D. No, only a clone of the view EMPD can be updated via an UPDATE statement. 

E. Yes, an UPDATE statement against the EMPD view is allowed if an INSTEAD OF trigger is defined on the view. 

Correct Answer: D 

 

QUESTION 5

Which two parameters would reduce the impact of availability from a REORG with SHRLEVEL CHANGE for a
partitioned table space with 16 parts? (Choose two.) 

A. LOG NO 

B. SORTKEYS 16 

C. FASTSWITCH YES 

D. AUTOESTSPACE YES 

E. DRAIN_WAIT and RETRY 

Correct Answer: CE 
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